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2. Subtract the following :

(1) 498 from 590
(i) 748 from 900

(111) 546 from 971
(iv) O from 211




3 Subtract :
q D 6 25 3 (2) 6 7 8

‘- - 51 4 2 - 3 5 6
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EX .Find the difference and check your answer :

(1) 4533 from 8759
3 (ii) 3428 from 5549
q (iii) 4467 from 5897

”




Subtract :




3 Subtract :

q(i) 4256 from 8100.
7 (1) 2888 from 7000.
/:/ (111) 3609 from 4000.
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3 3.Fill in the boxes :
ql) 3 9
7

- 3




4.Multiple Choice Questions (MCQ)
Choose the correct option.
(1) What should be added to 435 to get 1000 ?
(a) 655 (b) 565 (c) 650

(1) The sum of two numbers is 2894. If one of
them is 1750, the other number is
(a) 1144 (b) 1441 (c) 1414



J(iii) There are 7750 eggs in a shop. Out of them, 3478
eggs are sold. How many eggs are left now ?
| (a) 4722 (b) 4227 (c) 4272




5. John’s monthly income is ¥ 8000 and his

monthly expenditure is ¥ 4690.
Find his monthly savings, when savings
= income — expenditure.

_ 6. Two persons donated a total sum of X 9000 for
-, flood-relief fund. If one of them donated ¥ 6325,
“w  find the donation of other person



.| 7. From the largest 4-digit number, subtract the :
(a) largest 3-digit number.

(b) smallest 3-digit number.

' 8. There are 6400 bags of wheat in a go down. If 2948

&M bags

\

are sold, how many bags are left in the go down ?



. Evaluate the following :

. 35-40 + 48

. 340 + 480 - 275 - 25

. 2444 — 580 + 980 — 2000

. 5423 — 2788 — 4325 + 4270
. 4040 — 2800 + 2460 — 275

. 6760 — 2586 — 1540 + 470
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3 10.Fill in the missing numerals :

q (a) (1295




, 11. Choose the correct option. (MCQs)

(1) By how much is 3458 less than 7000 ?
(a) 3452 (b) 3542 (c) 3524

(i) There are 4250 sheeps in a farm. Out of
them, 2569 sheeps are sold. How many
sheeps are left in the farm ?

(a) 1681 (b) 1861 (c) 1618



Subtract :

(1)

(iii)




8 7 9 3
/7 6 5 0
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3 12. Find the difference and check your answer

(i) 7280 and 4299
(11) 4059 and 7000

-~ (iii) 5559 and 9000

6

(iv) 3780 and 5432

1



| § 13. Evaluate the following :

(i) 3402 + 2455 — 3744 — 2455 + 2550
(i) 2890 + 4550 — 3748 + 28 — 2850
(iii) 2444 + 2256 — 1311 — 2450

6 (iv) 1877 — 989 — 560 + 2422

t



14. What should be subtracted from the sum of 4340,
2560 and 2540 in order to get 6000 ?

" 15. A factory produced 8550 bulbs. Out of them,
4599 bulbs were supplied to distributors.
How many bulbs are left now ?



16. The sum of two numbers is 7889. If one of them
IS 2880, find the other number.

17. There are 4550 students in a school. If the
number

6 of boys is 2429, find the number of girls.



&
u;" 18. Find the difference between the largest and smallest
of 4-digit numbers formed using the digits 2,5, 7, O.

4 Each digit should be used once only.
-
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19.MULTIPLE CHOICE QUESTIONS (MCQ) :
Choose the correct option.

(1) 9 thousands, 2 tens, 3 ones is equal to
(a) 9023 (b) 9104 (c) 9103

(ii) 2476 + ? = 2526
(a) 40 (b) 50 (c) 60




(iii) 5261 = ?
(a) 5 thousands, 2 hundreds
(b) 5 thousands, 2 tens, 6 hundreds
(c) 5 thousands, 2 hundreds, 6 tens, 1 ones

o~

1

(iv) 3689 — 3289 = ?
(a) 300 (b) 500 (c) 400
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20.FILL IN THE BLANKS :

(i) 7 , 6 hundreds, 2 tens, 3 ones = 7623
= (i1) 9236 + = 9486
# (iii) 238 + 582 + 172 = + 582 +

(iv) 8236 — 748 =

‘ (V) 334 + 782 — 250 =

P




21.WRITE TRUE OR FALSE :
(1) 278 more than 6222 = 6550.
(1) 627 less than 5237 = 4640.
(i1) 5 hundreds, 6 tens, 2 ones = 5062.
Y (iv) 738 + 867 — 422 = 1183.

(v) 2538 + 7217 = 9550.
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\ 22.MATCH THE FOLLOWING :

Column A Column B
(1) 7 thousands, 2 tens, 9 ones (a) 6693
(i1) 528 less than 7728 (b) 897
(111) 928 more than 5765 (c) 7200
(iv) 552 + 972 + 242 (d) 7029

(V) 678 — 329 + 548 (€) 1766



